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MA 16020 Lesson 15: Improper integrals

Recall (limits): The limit of the function f(z) as x approaches a, lim. e [(z),
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An improper integral is a definite integral j; f(z)dz such that the i amb-f’
tegrand f(z) is defined on (a,b), but not necessarily at a or b. Hle
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Key idea: The integral j;b'f(:r:)dx can be computed as
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Exercise 1. Evaluate the integral
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Exercise 2. Evaluate the integral
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Exercise 3. Evaluate the integral

/“ 3dz
Js Y-85

A4 i

K _ 14
g A (T = [“M il
¢ N x-s a9t G

A N &

7 oAX § =%
N
x o] £E Seg ay ko a-§ "J

& 24l Ay ;.\-'-'f"'.r"é « -§

"@ﬁ%é e
5 gﬁr‘?dﬁ (I Q,f ?/(q S‘)J _g_é a1 8((\7

2
k- _ “)3— \_,./‘Y‘J /
I~ *=£ ~2 @ a;@“’&f
Exercise 4. Evaluate the integral i
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Exercise 5. Evaluate the integral
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Exercise 6. Evaluate the integral o M( ) l - 4 “@} ol
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